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4.1

σ =

 u
v√

r2 − u2 − v2

 , σu =

 1
0

− u√
r2 − u2 − v2

 , σv =

 0
1

− v√
r2 − u2 − v2



σu × σv =


u√

r2 − u2 − v2
v√

r2 − u2 − v2

1

 , ∥σu × σv∥ =
r√

r2 − u2 − v2

(1)

Area (T ) =

∫∫
Ω
∥σu × σv∥dudv

=

∫∫
u2+v2<a2

r√
r2 − u2 − v2

dudv

=

∫ 2π

0

∫ a

0

r√
r2 − δ2

· δdδdθ

=

∫ 2π

0

(
r2 − r

√
r2 −

√
a

)
dθ

= 2πr

(
r −

√
r2 −

√
a

)

(2)

∫∫
T
fdA =

∫∫
Ω

(
4u2v2

√
r2 − u2 − v2

)
· r√

r2 − u2 − v2
dudv

= 4r

∫∫
u2+v2<a2

u2v2dudv

= 4r

∫ 2π

0

∫ a

0
δ4 sin2 θ cos2 θ · δdδdθ

= 4r

∫ 2π

0
sin2 θ cos2 θ

(∫ a

0
δ5dδ

)
dθ

=
2

3
ra6

∫ 2π

0
sin2 θ cos2 θdθ

=
1

6
ra6

∫ 2π

0
sin2 2θdθ

=
1

12
ra6

∫ 2π

0
(1− cos 4θ) dθ

=
1

6
ra6π
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(3)

∫∫
T

v1 · dA =

∫∫
Ω

 0
0
3

 ·


u√

r2 − u2 − v2
v√

r2 − u2 − v2

1

dudv

= 3

∫ 2π

0

∫ a

0
δdδdθ

= 3

∫ 2π

0

1

2
a2dθ

= 3πa2

(4)(
u
v

)
=

(
a cos t
a sin t

)
, C (t) = σ (u, v) =

 a cos t
a sin t√
r2 + a2


v2 (C (t)) =

 a cos t− 3a sin t
a sin t

(
r2 − a2

)
a2 sin2 t

√
r2 − a2

 , C ′ (t) =

 −a sin t
a cos t

0


∫∫

σ(Ω)
∇× v2 · dA =

∮
∂T

v2 · dr

=

∫ 2π

0

(
a2

(
r2 − a2 − a

)
sin t cos t+ 3a2 sin2 t

)
dt

= a2
(
r2 − a2 − 1

) ∫ 2π

0
sin t cos tdt+ 3a2

∫ 2π

0
sin2 tdt

= a2
(
r2 − a2 − 1

) [
−1

4
cos 2t

]2π
0

+ 3a2
[
1

2
t− 1

4
sin 2t

]2π
0

= 3πa2
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(5)

v3 (σ (u, v)) =

 u
√
r2 − u2 − v2

v
√
r2 − u2 − v2

r2 −
(
r2 − u2 − v2

)
 =

 u
√
r2 − u2 − v2

v
√
r2 − u2 − v2

u2 + v2

 , σu×σv =


u√

r2 − u2 − v2
v√

r2 − u2 − v2

1


∫∫

T
v3 · dA =

∫∫
Ω

 u
√
r2 − u2 − v2

v
√
r2 − u2 − v2

u2 + v2

 ·


u√

r2 − u2 − v2
v√

r2 − u2 − v2

1

dudv

= 2

∫∫
Ω

(
u2 + v2

)
dudv

= 2

∫ 2π

0

∫ a

0
δ2 · δdδdt

=
1

2
a4

∫ 2π

0
dt

= a4π

(6)

C (t) = σ (u, v) =

 a cos t
a sin t√
r2 − a2

 , C ′ (t) =

 −a sin t
a cos t

0


v4 (C (t)) =

 a sin t ·
(
r2 − a2

)
r2 · a cos t

a2 sin t cos t ·
√
r2 − a2


∫∫

σ(Ω)
∇× v4 · dA =

∮
∂T

v4 · dr

=

∮
∂T

 a sin t ·
(
r2 − a2

)
r2 · a cos t

a2 sin t cos t ·
√
r2 − a2

 ·

 −a sin t
a cos t

0

dt

=

∫ 2π

0

(
−a2

(
r2 − a2

)
sin2 t+ a2r2 cos2 t

)
dt

=
(
a4 − a2r2

) ∫ 2π

0
sin2 tdt+ a2r2

∫ 2π

0
cos2 tdt

=
1

2

(
a4 − a2r2

) [
t− 1

2
sin 2t

]2π
0

+
1

2
a2r2

[
t+

1

2
sin 2t

]2π
0

= πa4

4.1

σu =

 1
0
2u

 , σv =

 0
1

−2v

 , σu × σv =

 −2u
2v
1

 , ∥σu × σv∥ =
√
4u2 + 4v2 + 1
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(1)

Area (T ) =

∫∫
Ω
∥σu × σv∥dudv

=

∫∫
Ω

√
4u2 + 4v2 + 1dudv

=

∫ 2π

0

∫ √
3
2

0

√
4δ2 + 1 · δdδdθ

=

∫ 2π

0

∫ 3
4

0

1

2

√
4t+ 1dtdθ

=
1

12

∫ 2π

0

[
(4t+ 1)

3
2

] 3
4

0
dθ

=
1

12

∫ 2π

0
7dθ

=
7

6
π

(2)

∫∫
T
fdA =

∫∫
Ω

(
u2 + v2

)√
4u2 + 4v2 + 1dudv

=

∫ 2π

0

∫ √
3

2

0
δ2 ·

√
4δ2 + 1 · δdδdθ

=
1

32

∫ 2π

0

∫ 4

1

(
t
3
2 − t

1
2

)
dtdθ

=
1

32

∫ 2π

0

[
2

5
t
5
2 − 2

3
t
3
2

]4
1

dθ

=
1

32

∫ 2π

0

116

25
dθ

=
29

60
π

4



学籍番号: 1124076 氏名: 程铪炘

(3)

∫∫
T

v1 · dA =

∫∫
Ω

 −u
(
u2 − v2

)
v
(
u2 − v2

)
u2 + v2

 ·

 −2u
2v
1

dudv

=

∫∫
Ω

(
u2 + v2

) (
2u2 − 2v2 + 1

)
dudv

=

∫ 2π

0

∫ √
3

2

0
k2

(
2k2 cos 2θ + 1

)
· kdkdθ

=

∫ 2π

0

cos 2θ
[
1

3
k6
]√

3
2

0

+

[
1

4
k4
]√

3
2

0

dθ

=

∫ 2π

0

(
9

64
cos 2θ + 9

64

)
dθ

=
9

64

∫ 2π

0
(cos 2θ + 1) dθ

=
9

64

[
θ +

1

2
sin 2θ

]2π
0

=
9

32
π

(4)

C (t) = σ (u, v) =

 a cos t
a sin t

a2 cos2 t− a2 sin2 t

 =

 a cos t
a sin t

a2 cos 2t

 , C ′ (t) =

 −a sin t
a cos t

−2a2 sin 2t


∫∫

σ(Ω)
∇× v2 · dA =

∮
∂T

 −a sin t
a cos t
a2 cos 2t

 ·

 −a sin t
a cos t

−2a2 sin 2t

dt

= a2
∫ 2π

0

(
1− a2 sin 4t

)
dt

= a2
[
t+

1

4
a2 cos 4t

]2π
0

= 2a2π

4.2

σ (u, v) =

 r sinu cos v
r sinu sin v
r cosu

 , σu =

 r cosu cos v
r cosu sin v
−r sinu

 , σv =

 −r sinu sin v
r sinu cos v

0


σu × σv =

 r2 sin2 u cos v
r2 sin2 u sin v
r2 sinu cosu

 , ∥σu × σv∥ = r2 sinu
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(1)

Area (T ) =

∫∫
Ω
∥σu × σv∥dudv

=

∫∫
Ω
r2 sinududv

= r2
∫ 3

2
π

π
2

∫ 2
3
π

π
3

sinududv

= r2
∫ 3

2
π

π
2

[− cosu]
2
3
π

π
3

dv

= r2
∫ 3

2
π

π
2

dv

= πr2

(2)

∫∫
S
fdA =

∫∫
D

(
r sinu cos v · r sinu sin v · r2 cos2 u

)
·
(
r2 sinu

)
dudv

=

∫∫
D

(
r6 sin3 u cos2 u sin v cos v

)
dudv

=

∫ 2π

0

∫ π

0
r6 sin3 u cos2 u sin v cos vdudv

= r6
∫ 2π

0
sin v cos v

(∫ π

0
sin3 u cos2 udu

)
dv

=
4

15
r6

∫ 2π

0
sin v cos vdv

= 0

(3)

∫∫
S

v1 · dA =

∫∫
D

 0
0

r3 sin3 u cos3 v

 ·

 r2 sin2 u cos v
r2 sin2 u sin v
r2 sinu cosu

dudv

=

∫∫
D
r5 sin4 u cosu cos3 vdudv

= r5
∫ 2π

0
cos3 v

(∫ π

0
sin4 u cosudu

)
dv

= r5
∫ 2π

0
0 · cos3 vdv

= 0
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(4)

v2 =

 yz2

xz2

2xyz

 ,∇× v2 =

 2xz − 2xz
2yz − 2yz
z2 − z2

 =

 0
0
0

から
∫∫

σ(Ω)
∇× v2 · dA =

∮
∂Ω

0 · dr = 0

4.3

σ (u, v) =

 u
v

u2 + v2

 , σu =

 1
0
2u

 , σv =

 0
1
2v


σu × σv =

 −2u
−2v
1

 , ∥σu × σv∥ =
√
4u2 + 4v2 + 1

(1)

Area (T ) =

∫∫
Ω
∥σu × σv∥dudv

=

∫ 2π

0

∫ 9

2

√
4δ2 + 1δ · dδdt

=
1

2

∫ 2π

0

(
1625

√
13− 17

√
17
)

dt

=
1

6

(
1625

√
13− 17

√
17
)
π

(2)

C1 (t) =

 9 cos t
9 sin t
81

 , C2 (t) =

 2 cos t
−2 sin t

4

 , C ′
1 (t) =

 −9 sin t
9 cos t

0

 , C ′
2 (t) =

 −2 sin t
−2 cos t

0


v1 (C1) =

 81 cos2 t+ 9 sin t− 4
243 sin t cos t

1458 cos t+ 6561

 , v1 (C2) =

 8− 4 cos2 t
8 sin t cos t+ 2 sin t

−4 sin t


∫∫

σ(Ω)
∇× v1 · dA =

∫ 2π

0

(
1450 sin t cos2 t− 81 sin2 t− 4 sin t cos t+ 20 sin t

)
dt

= −81π
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(3)

C1 (t) =

 9 cos t
9 sin t
81

 , C2 (t) =

 2 cos t
−2 sin t

4

 , C ′
1 (t) =

 −9 sin t
9 cos t

0

 , C ′
2 (t) =

 −2 sin t
−2 cos t

0


v2 (C1) =

 162− 81 cos2 t
−162 sin t cos t− 9 sin t

18 sin t

 , v2 (C2) =

 8− 4 cos2 t
8 sin t cos t+ 2 sin t

−4 sin t


∫∫

σ(Ω)
∇× v2 · dA =

∫ 2π

0

(
478 sin t cos2 t+ 14 sin t cos t− 340 sin t

)
dt

= 0
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